a(d cot(B))

1072

O U A | 11 e N O U | O 0 1 O

o10vsE Q10%F
T r ol r
a4 L a4 L

=
I
2
=
I
-
=
M

09831 0 1 2 3 098321 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

DQM_TT1__original_noPU

DQM_TT__paretofrontMaxEffOnlyFB2_PU
DQM_TT__paretofrontMinFROnlyFB2 _PU
DQl

M_TT__paretofrontMaxHitsOnlyFB2_PU

— — 1
£ IS :
) S
e e
-~ —
< -
° o
o e
) e}

107}

B R T 1 11 11

010%F ;
IS t !
x [ 1
a | it P T
098351 0 1 2 3 0983 =51 0 1 2 3

TP n (PCA: to beamline) TP n (PCA to beamline)

232 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


